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EJERCICIOS DE INECUACIONES

Ejercicio 1
Resuelve en R siguientes inecuaciones:

1)

2)

3)

4)

5)

“4x+1<0
5x-32>0
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3 3

3x+2 —3x
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7(=2x +1) < =5(2x + 1)

Ejercicio 2

Resuelve en R las siguientes inecuaciones:

1)

2)

3)

4)

(-10x +3)(3x—-9) >0
(3x2 - 6)( §X—4) <0

@x+T)(x2-2x+1)>0

(-3x2+ 7x)x < O

5) 15(=3x2 4+ 2x - 5)(x = 1) > 0

Ejercicio 3

Resuelve en R las siguientes inecuaciones:

1)

2)

3)

4)

x> +2

3x-1 50
—4x+3

4x* —7x
x+10

>0

2
5x° -80 <

2x—-8

—x+7<0

6) 2x2—15x+7>0

7) 3x(3x-2) < -1

8) 3(x2+1)=2x(2-x)

7

9) 5x2£2x+1

10) —4x2 > —6x

1) 2x2+32 <0

Eiecuerda que:

ab=0a=00b=0
signo (a:b) = (signo a)- (signo b)

Eiecuerda que:

Sib7t0:>signoi = w}
b sigho b
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